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5,000,000& * 1JH 5,000
o =X3& XNE RAE+
5,000,000& * 1JH A 5,000
202 o4l 4,800 6,000 A 1,200
01 2Ll 4,800 6,000 A 1,200
o Ccyy 2y U YR =W
20,000 « 2% « 120 4,800
401 AlEHIZL 2 0HY| 282,200 0 282,200
01 Al&H| 282,200 0 282,200
o CEY T 5N AULH 29
30,000,000& * 1A 30,000
o & Jls BE2ZZ2AF 100,000,0008 * 104 100,000
o HEtAGIRA 12 B2 ZAH29AITH)
52,200,000 * 1JH A 52,200
o BHCHY O2=3 2A
100,000,000 = 100 A 100,000
=gy olglgl 1,635,708 1,935,504 A 299,796
801 oyl bl 1,635,708 1,935,504 A 299,796
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o S&Y oyl 1,635,708,000& 1,635,708
HEES(0lcHEED) 667,025 667,025 0
SIS (EHLELESH) 667,025 667,025 0
cgy g2 A= Ast 167,025 167,025 0
311 X 20| AHAE 167,025 167,025 0
02 Estl=2s)| 22X 20| XFakst 167,025 167,025 0
o J|Z 0| Xtatst 5,567,500,000& * 3% 167,025
BtEtZ2DIEH(E2UESHG H) 500,000 500,000 0
802 BtEt2 DI E} 500,000 500,000 0
03 U2 S 500,000 500,000 0
o AES= ttet 500,000,000 500,000
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